__Answers  for Mo

105 2020 MK

PIMTC PG

\ A

\iz M’
609r e
-~

dM = GOCQL{:rnG@

Fs)
2m = e
— J—
7z
m = 30

S+20 = 100"

S%“l(;"‘lt‘; :lO‘S'-flOQ
S+ tol

e goo

—

)

SiPro p1+4erm t

WO P9 1HHb—W\g

(@ /o b
s5p -
/ 5 70° —
5p = 10
5/{3 = T
3, 3,
Pz [




e

9 (XS 3 = /’\-)6500

Qx X, toxas = HAXFS o

Q«X“"’ G[OO - A)(,'i’ﬁob

S~
e 30°
e, > -
ez 46" (Riernede 45 ) /
o= af (Mermate £8) | 305z g (her® )
X - atrb : &
: o o n =~ 30
X = IO +40 3
X = 70°
loxAqo = 4x+50
HXI50" BL-AQ0 = HeSC

A0 = SO




	math_ans_15 week 1
	math_ans_15 week 2

